Puzzle 9088 - Wednesday, 28 May, 2014 - Difficulty 3

16 ;‘15"" ”””” 19 | | ! 11 21
319|215 6|84 |17
H "1’7”" fifiii,:"s’f:f:::';{fjj;ﬁi::f H i
74819 ]2)1]3/]6]5
i T : : %’4’:” ffffff,,ﬁiiiii‘ : :
611 /5|71314]|8|2]9:
6'""': 15111’111::} 3727:: ffffff,,jffffi’{é’,’: :::,: :Ii()i::l
516 |7[8|1]3]9 4j12‘
i ’51’:::::::;: ‘8’,11117’1’8:’1 :1;1””‘ i’z’iiifffff;
102 3j*6334§§9”5 7 8.
1’7’1",,’,’,’,’,’,’,:"1’1’1111 : i ; i : :Ib’ii’:”g’jiii,fff:;
9181412175136
‘167 ,ffffff,:: ,,,,,,,,,,,,, ‘ :‘Ziiiii 3‘517::7:::‘:
8 3 13”767” 11517 ] 2 I 9 | 4 |
6'""" : : 17,,,3 ’71’:::: :{7’::’3 éffiii,: T{éii" ‘ ;’4’,1111‘
21511496 | 7 11”@]1 3
4)7]9]3|8]2]6 5|1

Copyright (c) www.dailykillersudoku.com




